
FITTING INSTRUCTIONS 
 

PART NUMBER:  T4C606 
 

 

 

 

PROUDLY MANUFACTURING TOWBARS IN AUSTRALIA 

 
 

Mitsubishi Triton Dual Cab W/Out Step – 8/09 onwards 

3000 kg Towing Capacity/300 kg Ball Load 
  Lug # L4045 

 

1) Fit internal chassis rail brace into chassis rail. 

2) Fit tow bar to outside of chassis rail with M12 bolts and nuts and washers. 

3) Slide plate on wire with nut welded to it down to line up with forward most hole in tow bar 

and fir M12 bolts and washers. 

4) Fit M12 bolt with square plate through bottom of chassis rail and fit nuts and washers from 

under chassis rail. 

5) Fit M12 bolts, nuts and washers through most rearward holes in tow bar to join internal 

chassis rail brace together. 

6) Tighten all bolts to torque listing. 

7) Fit ball mount with pin and clip supplied. 

8) Fit door sticker supplied to door. 

 

ECU MUST BE FITTED WITH THIS TOW BAR 

ECU SOLD SEPARATELY 

RECOMMENDED ASSEMBLY TORQUE LISTING 

  Diameter                                  Grade 8.8 Bolt 

     Nm 

  M6       9.5 

  M8               21.7 

  M10               43.4 

  M12     77.3 

  M16              189.8  


